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ENFZ EF BT 37 42 41 83
T {Z BHET 28 37 36 73
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FEAHT 41 50 48 98
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EHET 790 939 782 1721
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{ERER 121 139 160 299
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R ARHAT 367 485 500 985
R AT 157 166 171 337
EEHT 179 210 230 440
AN T 67 81 76 157
AR ARET 1119 1327 1372 2699




FTH2F4A1BRECERERSIREFHRRUVAD

BT 4 L BN Z(N) N

S i5H] 109 150 168 318
FAE BT 385 391 432 823
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NLEEHT 108 139 143 282
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/N R ET 28 29 39 68
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FAHE =T 369 528 513 1041
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fh 2 BT 155 86 162 248
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FZARHET 128 154 159 313
FEHET 109 132 148 280
B ENHET 87 116 106 222
BT HT 45 53 53 106
1= F AT 208 205 220 425
rgiafr 169 208 204 412
£ Bk BT 49 62 57 119
{0 A< T 1622 1827 2041 3868
RiEMT 26 26 25 51
f2{EHr 362 343 417 760
1L FH T 143 168 194 362
BEET 29353 31416 32703 64119
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